Efficiency vs Dxy(PV)

E 0.5
0.4
5
o O.
>
20.3!
T
5 0
=
®0.2

0

0.1!

0

0.0!
i)
=
©
o

-20 -15 -10 -5 O 5 10 15 20
TP dxy(PV) (cm)
—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

I Efficienc] —— DQM_pixelCPEChi20R2_step2_ttbar-phasel-newgeom
08
< 0
L
>
x
o
1%
>
>
8)
c
@
S
=
@

ie]
T
4
2 : : h
. f . .
-08-06-04-02 0 0.2 04 06 08
TP dxy(PV) (cm)
S 0.8,
S
¥ o7
2
> 0.6}
o
5
5 0.5
=
@
0.4
0.3]
0.2 -
1 1 .:- 1 1
o O Py
g 4 """""""""E """""""""
SRR LEETL EERE AR - EEL TETEE
. I . .
-30 -20 -10 0 10 20 30
TP dz(PV) (cm)
S 1. -
o .
5 :
s 1 R AR
> .
> N
Q .
S gy
k) :
S :
ES H
[} .
.t
0.2~ 4| L*‘?,'ﬂ{ ;
ofi i | ‘ﬁ?‘ i i
L8 . . 3 N
o P . __+___ - [
¢ P ‘ o
ARSI 1, | S SIS R
7 LR
-1 0 0

B 1
TP dz(PV) (cm)




	Contents
	Page 1


